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SIZES:
Width: 47-66 cm. Length: 52-80 cm.

MATERIALS:
WENDY SUPREME DK WD30- COLOR

CROCHET TENSION:
16 treble crochets in width and 8 rows in height =10 x 10 cm.

CROCHET HOOK:

CROCHET HOOK SIZE 4.5 MM.

Hook size is only a guide. If you get too many stitches on 10 cm, change to a larger hook size. If
you get too few stitches on 10 cm, change to a smaller hook size.

EXPLANATIONS FOR THE PATTERN:

CROCHET TIP FOR CHAIN STITCH:
If you work outermost on the hook the chain stitch will often be too tight; 1 chain stitch should be
as long as 1 treble crochet is wide.

PATTERN:
See diagrams A.1 to A.3.

1 PUFF-STITCH:

Work as follows in the same chain stitch (important to work in the stitch not around the stitch): *
Make 1 yarn over, insert the hook through the chain stitch, make 1 yarn over and pull it through
the chain stitch; make both yarn overs long (to avoid the puff-stitch being small and compact it is
important to pull the yarn overs to approx. 2 cm in length) *, work from *-* a total of 5 times, make
a yarn over and pull the strand through all loops on the hook.

START THE PIECE HERE:

BLANKET — SHORT OVERVIEW OF THE PIECE:
The piece is worked back and forth.

BLANKET:

Work 77-107 chain stitches — read CROCHET TIP FOR CHAIN STITCH, with hook size 4.5 mm
and Sky. The first row is worked as follows:

Work 1 treble crochet in the 4th chain stitch from the hook (= 2 treble crochets), then work 1
treble crochet in each chain stitch = 75-105 treble crochets.

Now work pattern as follows: A.1 over the first 2 stitches, A.2 over the next 66-96 stitches (= 11-
16 repeats in width of 6 stitches), work A.3 over the last 7 stitthes. REMEMBER THE CROCHET
TENSION!

When A.1 to A.3 have been completed in height, repeat the pattern from the rows with an arrow
until the piece measures approx. 51-79 cm — adjust so you finish after a row without puff-stitches.
Work 1 row with 1 treble crochet in each stitch (around each chain stitch). Cut and fasten the
strand. The piece measures approx. 52-80 cm.

Diagram

€——= Start on this row; previous row has already been worked and just shows how the next
row is worked in the stitches
o= 1 chain stitch - if you work outermost on the hook the chain stitch will often be too tight; 1
chain stitch should be as long as 1 treble crochet is wide.
f:| = 3 chain stitches (equivalent to 1 treble crochet)



'|': 1 treble crochet in stitch
f = 1 treble crochet around chain stitch

=2 TREBLE CROCHETS TOGETHER AROUND CHAIN STITCH/IN TREBLE CROCHET:
Work 1 treble crochet around chain stitch /in treble crochet but wait with the last yarn over
and pull-through, work 1 treble crochet around the same chain stitch/in same treble crochet
and pull the last yarn over through all 3 loops on the hook
= skip 1 chain stitch, work 1 treble crochet in next treble crochet, 1 chain stitch, work 1
PUFF-STITCH — read description in text — in skipped chain stitch (puff-stitch will cross over
the treble crochet on the right side of the piece)

= skip 1 puff-stitch + 1 chain stitch, work 1 treble crochet in next treble crochet, 1 chain
stitch, work 1 puff-stitch in skipped chain stitch (puff-stitch will cross over the treble crochet
on the wrong side of the piece)

| Eo><><  ><X><>< t
I DS DE>edS §
0ttt ° t°1°t°  1f
FHiIv % V¥t
DE0=0=0 =00t
Fr=t t° 171717 tl
| E><><  >X>X>< ti
f ><><><  ><><>< ¢
0ttt t7t7¢°  tt
L L L I B B T 0
(tfrrtt  TiT1fd ft
117 T
U O I I I fi
ff 1 1"« t7t 1t 7« 10+
V0 A 0 O 0 I I A I

r
]
[
]

>



